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What is fitting for her, yes; what is not fitting for her, no

OVERVIEW

The term 797 is generally understood to mean that one pays a 07w P13 (as opposed to
an or 7Y 1R when you pay a 1"1). The X731 argues that the m1wn cannot follow the
view of v"1. The 7iwn states 777 X7 IR 21OK? 79I Wi the inference is that if it ate
792 IR it is N7V and pays w" (Pran 7xn2); however if it ate something 177 "IR7 PRY it
only pays a [Pri7 7x¥n2] 1"1 (for it is 71Wn and is considered 77p2). This is in conflict
with 07 who maintains that P1°37 7¥12 (even) 7P pays a @"l. Our mdon challenges
this presumption that 77 and 791 1R are referencing (only) 1"m w"1. They may be
referencing 1911 7797 1, and therefore the 71w can be according to ",

mDdoIN anticipates a question:
= 99YN 12 BHYY 139N DTN MMIRPT RN NRYT MYPNY PN

One cannot ask; perhaps that which the 71wn states that a @ is nTY to eat "X77

%, this refers to the obligation to pay from his assets (but not merely that she is a

NT¥IMN to pay a 2w Prl) -
= 199490 395 DYV P OHWNY 29 DY GN 1D MINY PRV

And if the nnn2 ate something which is 7% "9 PR, then the ruling is that even

though the owner pays a w''1 as ©''1 rules, nevertheless the animal -
- (3,m 97 72 D793 1PININTI 7PN 11 BYY T39I 1N

Is not considered a 7¥ 1 concerning his obligation to pay 7°°%¥77 1% as the X7n3

states in the second P99 (but rather it pays 1 [a w"1]. The anticipated question is that
perhaps the m1wn is according to v"1. The inference that if it ate something that is not 7% X7 she
is not a 7V, is applicable (not to w"1 and 1"n but rather) to 7°%¥1 1 (by 12 »X7) or ©M (by X
77 "1%7). However it always pays a v"10 w"1.

mooIn seeks to support the contention of the 'mMwpn? PR that 791 or ¥ WX can be referring
only to 7%¥77 11 and D11 as opposed to 1"m w"i:
= 399 O9IIN UM TYIN 1N O 11)"1)9?&‘19 AT HY TV TN PYUH

And the expression 731" is applicable to this alone (that it pays 7»%¥:7 1) as the
X773 states citing a Xn*12; ‘jumping (by hen) is not a ¥, and others say it is a
793 the X3 then explains that the hen damaged through *nmnx -

1
X, 700,
* The hen by its jumping kicked pebbles which damaged. M 17 pays a 1"f. The X7n3 there was debating whether the

1
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And the two opinions in the Xn>>72 argue; the one who claims 7912 11°X maintains
that the payment is only 123% and the one who claims 7y, maintains that the

payment is 799 3%, It is evident from that X733 that the terms 7911 X1 797 can be referring
only to 7°%¥17 121191 and not to 1"m w" Perhaps the same is with our 71wn, and therefore it can
be according to v".

mooin replies that we cannot say that the inference, that by 1% "7 PX it is not a 7¥1», is only in
regard to 191n:

= PIOSN ON D OYWN KD NY NN PRY TN DyT
For perforce you must agree that by 7% 1% 1°X he pays only a 1"'17 (and not a "3

19137 as the 'Mwpia? X' would have it) -
2713 58N NNYWN 099 IN MDD NN NN JWA 33 SIND KITNA (3,00 91 /2 9993 YPYT

For later in the second =5 the mwn explicitly states concerning nTym W,
that, however if the animal ate garments or utensils (which is 177 “1X7 1°X) it pays

a 1''n (not a D1 w"1). According to ©" however it would be a [1Dn] w"1 (if it was PP “xn2).
This proves that the 71wn is not according to v"A.

SUMMARY
The inference of 7% »X17 IR 2198 N7vIM Wi is that if it ate 77 "IRY PRY, it pays a 11
as it is clearly stated in the 771wn in 2"5.

THINKING IT OVER

1. m2oIN argues that our 71wn cannot follow v'"7 since the 71wn in 2"D states that by
MRT PR it pays a 1'm. Perhaps the two nriwn are in disagreement; our mwn is
according to v"1 and the 2"52 mwn is according to the 112772!"

2. mooin asks that we should assume that 7317 1°K8Y 791 is referring to 71»9¥:7 1 and
1. Why did not mooin ask the same question concerning the X113 previously,’
where the X713 inferred that it pays a P17 7¥m2 1"'n? Let us also ask there that
perhaps the 772 is not N7 to pay 75¥1 10; only 1911 ?1°

MM 3" 1S 1D or FYhYR .

3 It should be noted that from that X3 we (only) derive that a 79v77 12 1" can be referred to as T (by Mg,
which is °'n7K). However we (seemingly) cannot derive from there that 1913 "1 should be referred to as 7¥1 1I°X.
P"vxY. [See X2°77 7"7 2, P2 Moo, ]

* See X"wanT? 2" M.

Saw.

® See 0"
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